RoT. 6.1 BifE Sk amEEADR o m e

JNE] i H FEHE H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER] AR SR ] A ERH &EH (H) | (&)
X 46,629 109, 489] 53, 545] 55, 944 84 54 -22 57 79 76]  510] 434 0 178 178
HI—TH 677 1,426 696 730 2 8 -2 0 2 -1 1 2 11 11 0
FL T H 553l 1,320 665 655 -3 -10 0 1 1 -3 1 4 -7 0 7
LI =TH 451 1,009 486 523 0 -3 -1 0 1 2 4 2 —4 0 4
Sl AE 1,681 3,755]  1,847| 1,908 -1 -5 -3 1 4 -2 6 8 0 11 11
Sk —TH 487| 1,019 486 533 —4 -7 -2 0 2 0 4 4 -5 0 5
. = 770[ 1,839 889 950 4 3 0 0 4 7 3 -1 1 2
SR —TH 545 1,302 628 674 -1 -1 3 1 -5 1 6 2 4 2
S AT H 374 921 448 473 10 3 0 5 7 2 2 2 0
ot T H 568 1,256 613 643 2 -1 0 1 3 6 3 0 0 0
BN T B 219 483 227 256 0 0 0 0 0 0 0 0 0 0
ARt TH 640l 1,647 817 830 3 6 1 1 0 0 8 8 5 6 1
oA\ T H 393 910 451 459 -4 =10 0 0 0 -6 2 8 —4 0 4
IV B 597|  1,452 728 724 -2 0 2 6 10 4 —4 1 5
e e Et| 4,593 10,829] 5,287 5,542 1 7 6 7 45 38 -5 14 19
e n—1H 338 819 408 411 0 0 0 1 5 4 2 2 0
HeEr R _ T H 929 2,015 985 1,030 1 1 2 1 0 2 2 0 2 2
HHk o —TH 671y 1,449 707 742 -1 -8 0 0 0 -7 3 10 -1 3 4
Wk A AErl 1,938 4,283] 2,100] 2,183 3 —4 1 2 1 -6 10 16 1 7 6
Mt A — T H 572|l 1,254 619 635 -3 -2 1 3 0 4 4 -1 2 3
ek R _TH 372 923 479 444 —6 -10 -1 0 1 -5 0 5 —4 1 5
Mk R =TH 247 543 269 274 3 0 0 0 0 2 4 2 -2 1 3
ik L G| 533l 1,315 670 645 1 4 0 0 0 0 3 3 4 7 3
msEr aaEtl 1,724 4,035] 2,037 1,998 -1 -9 -3 1 4 -3 11 14 -3 11 14
TEIT) 347 968 429 539 0 -2 0 0 0 -2 3 5 0 0 0
HOEEN— T H 154 382 179 203 0 1 1 0 0 0 0 0 0 0
HOEE T H 417 995 475 520 2 -2 0 2 6 7 1 0 2 2
HoEEI =T H 675 1,723 828 895 5 6 0 1 1 2 5 3 4 7 3
HOEEAN T H 712l 1,778 860 918 4 10 1 1 3 4 1 7 8 1
HEROH T H 403 976 490 486 0 4 -1 0 1 5 6 1 0 1 1
HOEEIS T H 392 944 461 483 1 -2 0 0 0 -2 0 2 0 0 0
HoEEOETH 637 1,454 709 745 -3 -5 1 0 -1 7 8 -5 0 5
HOEEHOSE 3,3901 8,252 4,002| 4,250 9 18 -1 4 5 13 29 16 6 18 12
PEEE| 1,481 2,974 1,389 1,585 0 —4 -1 0 1 —4 5 9 1 2 1
FHIAR 331 708 353 355 3 9 0 0 9 10 1 0 0 0
EE g —T 448 962 472 490 2 5 1 1 5 7 2 0 2 2
EE g — T 232 498 255 243 -1 -1 0 0 0 -2 1 3 1 1 0
R = T 487 1,134 567 567 -2 -1 -1 0 1 -2 0 2 2 4 2
TEE Py T 5911 1,263 600 663 -2 -5 2 2 0 -7 4 11 0 1 1
EEP g R T H 205 524 253 271 0 -1 0 0 0 2 3 1 -3 0 3
EER A2 1,963 4,381 2,147| 2,234 -3 -3 1 3 2 -4 15 19 0 8 8
B RHT— T H 664 1,385 654 731 1 1 0 0 0 3 8 -2 2 4
EEIARRT T H 687 1,387 668 719 1 2 —4 0 4 9 16 -3 1 4
EEOARRTAE 1,351 2,772 1,322| 1,450 2 3 —4 0 4 12 24 12 -5 3 8
RPN 316 868 490 378 0 -2 0 0 0 -1 4 5 -1 0 1
WHR—TH 7071l 1,700 848 852 2 9 3 1 1 2 1 6 6 0
R T H| 1,584 3,759] 1,845| 1,914 5 14 4 2 18 32 14 -6 2 8
WHR=TH 818 2,171] 1,061 1,110 4 -1 1 1 -1 6 7 0 4 4
HHRIT H 4950 1,212 582 630 2 -2 -2 0 2 0 1 1 0 3 3
HPREEH 3,604/  8,842| 4,336 4,506 13 20 2 8 6 18 41 23 0 15 15
HiR—TH 641 1,563 763 800 2 0 1 0 -6 10 5 5 0
LR - TH 859l 2,165| 1,062| 1,103 -1 -12 -2 1 3 0 of  -10 0 10
PR =TH 437 963 502 461 1 1 0 1 1 1 5 0 2 2
JedRAEF 1,937 4,691 2,327] 2,364 2| -11 -1 3 4 -5 19 24 -5 7 12
T IROBTHT 320 805 385 420 3 8 -1 0 1 2 8 6 7 7 0
WIEl 1,594 4,960 2,275 2,685 -1 -3 -3 3 6 1 10 9 -1 4 5
MAE—TH 774 1,838 904 934 4 0 -1 0 1 1 8 0 0 0




RIC. 6.1 BE Sy AHEEADSE Pt B
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET) ] A ERsH &EH (H) | (&)

FYlE 1T H 703l 1,867 956 911 -1 -8 -1 0 1 -3 2 5 -4 1 5
MoE =1 H 624 1,550 768 782 2 -2 -1 0 1 -3 6 9 2 2 0
A EN T H 900/ 2,204| 1,079 1,125 3 5 1 1 0 4 6 2 0 4 4
RCENNE 588 1,405 683 722 1 1 -2 0 2 3 4 1 0 2 2
MAESTH 406 1,017 487 530 0 0 -1 0 1 -2 1 3 3 3 0
Al E e 3,995 9,881] 4,877| 5,004 9 —4 -5 1 6 0 27 27 1 12 11
VEPIe S 517 1,141 567 574 -3 —4 -1 1 2 0 1 1 -3 1 4
e —TH 321 694 341 353 -3 -5 -1 0 1 —7 7 3 3 0
e — T H 588 1,364 664 700 4 4 -1 1 2 4 2 1 1 0
A gl 909 2,058| 1,005 1,053 1 -1 -2 1 3 -3 9 4 4 0
E— 1 H 334 729 381 348 14 13 0 0 0 18 95 77 -5 0 5
= =T H 646 1,375 657 718 -2 -6 -1 0 1 0 4 4 -5 0 5
=T H 4031 1,028 515 513 -1 -1 0 0 0 -3 1 4 2 2 0
EaEtl 1,383 3,132 1,553 1,579 11 6 -1 0 1 15 100 85 -8 2 10
e —TH 3771 1,010 479 531 -1 -3 -1 0 1 0 1 1 -2 0 2
HYE T H 424 1,078 536 542 -2 —4 0 0 0 2 2 0 -6 0 6
HHE T H 751 1,927 973 954 -2 —4 0 1 1 -2 3 5 -2 0 2
W& T B 462 1,071 511 560 3 6 0 1 1 6 7 1 0 1 1
B E ] H 732l 1,671 824 847 0 5 -1 2 3 0 2 2 6 6 0
HHIENT H 218 479 248 231 -3 -3 0 0 0 -1 1 2 -2 0 2
HEOE 2,964/  7,236] 3,571 3,665 -5 -3 -2 4 6 5 16 11 -6 7 13
<HWE—TH 608[ 1,434 705 729 2 -1 0 2 2 -3 6 9 2 2 0
<HEIL—TH 706( 1,541 761 780 -1 -5 -1 1 2 1 5 4 -5 0 5
SHBEIL=TH 500/ 1,148 566 582 —4 —4 2 2 0 -7 0 7 1 1 0
<HEWLPTH 507| 1,116 558 558 4 6 -1 1 2 5 9 4 2 3 1
<O T H 349 770 424 346 -2 -9 1 1 0 —6 3 9 —4 0 4
<WEIEEH 2,6700 6,009 3,014 2,995 -1 -13 1 7 6 -10 23 33 —4 6 10
WIE AR —TH 783 1,707 850 857 -2 2 -1 1 2 0 5 5 3 7 4
WIEAR T H 444 1,091 550 541 6 12 0 0 0 6 8 2 6 6 0
PIEARTSE 1,227 2,798] 1,400 1,398 4 14 -1 1 2 6 13 7 9 13 4
s 444 854 421 433 -3 -2 0 0 0 2 8 6 —4 0 4
ek a—TH| 1,013 1,681 745 936 9 10 3 3 0 6 19 13 1 2 1
e T H 407 681 315 366 -2 1 1 0 —4 7 11 1 4 3
kR =T H 624 1,683 790 893 7 7 2 2 0 4 10 6 1 2 1
sk BRI H 392 844 406 438 5 10 1 2 1 6 11 5 3 3 0
ok a A el 2,436 4,889 2,256] 2,633 26 25 7 8 1 12 47 35 6 11 5
FRIREET 20 59 31 28 0 0 0 0 0 0 0 0 0 0 0
B 773l 1,829 895 934 5 11 -2 0 2 7 8 1 6 8 2
VEEE 276 667 322 345 0 -2 0 0 0 -3 1 4 1 1 0
e — T H 413 1,092 560 532 2 5 1 1 0 5 5 0 -1 0 1
e T H 392 915 449 466 2 -1 0 1 5 6 1 -1 0 1
oo B R 805 2,007| 1,009 998 4 8 0 1 1 10 11 1 -2 0 2
P — T H 624| 1,357 681 676 0 1 -3 0 3 4 6 2 0 0 0
P T H 504 1,229 584 645 0 -2 -1 0 1 —4 0 4 3 4 1
Ve A a1, 1281 2,586 1,265| 1,321 0 -1 —4 0 4 0 6 6 3 4 1
P e 289 669 338 331 1 2 0 1 1 3 3 2 2 0
BEHIR 223 551 295 256 0 0 0 0 0 0 0 0 0 0




